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QUESTION 1

A client is building a collection of web apps that will serve short-lived marketing sites during REST. The apps must
support HTTPS connections. They also need to scale up and down at unpredictable intervals. The client is not currently
a Heroku Enterprise customer. Given the scenario, what should an Architect recommend?

A. Sign up for Heroku Enterprise and deploy each app to a different Private Space

B. Sign up for Heroku Enterprise without deploying the apps to the same Private Space

C. Sign up for Heroku Enterprise and deploy theapps to the same Private Space

D. Deploy the apps to the Common Runtime

Correct Answer: D

https://devcenter.heroku.com/articles/internal-routing

QUESTION 2

Universal Containers provides multiple service types (i.e., Installation, Maintenance, Break/Fix, etc.) Each service
requires a variety of skills and certifications inorder for a resource to excel Which two configurations should a Consultant
implement to meet this requirement? (Choose two )

A. Use Work Types with Required Skills

B. Assign the appropriate Skills to Resources

C. Create Multiple Work Orders Line Items per service.

D. Select the relevant Work Types for each Resource

Correct Answer:. AB

QUESTION 3
What are two features of a ShieldPrivate Space that has Private Space Logging enabled? Choose 2 answers.

A. Logs must be forwarded to a destination either within the Shield Private Space or within a VPN that includes the
Shield Private Space.

B. Applications in the shield Private Space donot forward logs to Heroku\\'s Logplex router.

C. Applications in the Shield Private Space forward logs to a separate, high-compliance instance of Heroku\\'s Logplex
router

D. All applications in the Shield Private Space forward their logs to the same destination.
Correct Answer: BD

https://devcenter.heroku.com/articles/using-sso-services-with-heroku#prerequisites-for-sso-with-heroku
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QUESTION 4

Which is a characteristic of an add-on that is "available" for applications in Private Spaces but not "installable” in a
Private Space?

A. The add-on always runs in the samePrivate Space as the provisioning application.

B. The traffic between the provisioning app and the add-on will travel across the public Internet.

C. The add-on will always run in the same region, but not in the same Private Space, as the provisioning application.
D. The add-on\\'s data will always be stored in the same Private Space as the provisioning application.

Correct Answer: C

QUESTION 5

A financial reporting application, hosted on an on-premise server, uses a native library (wkhtmltopdf) to convert its
HTML reports into PDFs. The app is being migrated to Heroku. What option should an Architect recommend to enable
the Heroku application to use wkhtmltopdf?

A. Ensure that the Heroku app fetches the wkhtmltopdf library from cloud storage on dyno restart.

B. Install the dependency using sudo apt install wkhtmltopdf from .profile in the project root.

C. Continue to host wkhtmltopdf on-premise, and build a REST API so the library can be invoked from the Heroku app.

D. Use a custom buildpack to install wkhtmltopdf using apt.

Correct Answer: D

QUESTION 6

Universal Containers wants to ensure that inventory needed for repair jobs is tracked and managed so Technicians
have the material for their jobs. Which two ways should a Consultant recommend tracking these inventory requirements
in Salesforce? (Choose two.)

A. Products Required for Service Appointments

B. Products Required for Work Orders

C. Products Required for Work Order Line Items

D. Products Required for Service Resources

Correct Answer: BC

QUESTION 7
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Which Heroku runtimes provide keystroke logging?

A. The Common Runtime, Private Spaces, and Shield Private Spaces
B. Private Spaces and Shield Private Spaces

C. Shield Private Spaces only

D. Keystroke logging is not available on Heroku

Correct Answer: B

QUESTION 8

The primary benefit of a workflow outbound message over an Apex trigger is:
A. The message supports different authentication mechanisms

B. The message can deliver the payload only as SOAP

C. Messages are completely declarative.

D. The message can handle every database event.

Correct Answer: C

QUESTION 9

Universal Containers (UC) recently acquired another company, International Shipping. Each company has its own
Salesforce org, and UC wants those orgs to remain separate for the foreseeable future. Given this scenario, which
Heroku feature should an Architect recommend to provide additional value to UC following the acquisition?

A. Heroku Connect can be used to synchronize data directly between the two Salesforceorgs.

B. Both orgs can be attached to the same Heroku application as an add-on to ensure data residency in the
application\\'s region.

C. Heroku External Objects can expose read-only data from both Salesforce orgs to Heroku Postgres.
D. A Heroku Postgres database can sync data from both orgs for advanced querying capabilities.

Correct Answer: A

QUESTION 10
You can use Heroku Connect for:
A. Bidirectional data replication

B. Data proxy with Salesforce Connect
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C. One-way data replication
D. All of these

Correct Answer: D

QUESTION 11

A client has data in a production Heroku Postgres database, and needs to quickly get access to a subset of that data for
reporting needs. Which two features does Heroku Dataclips provide to enable this? (Choose two.)

A. JSON export of query results, with CORS support
B. CSV export of query results

C. A simple REST API access to query results

D. Postgres dump file of query results

Correct Answer: AB

https://devcenter.heroku.com/arlicles/dataclips

QUESTION 12

A client runs an application on a background worker dyno. The application allows its users to request personalized
information as a PDF. At peak usage, the app processes millions of requests at once.The resulting number of requests
has caused a bottleneck that is impacting its performance.

Which two solutions can an Architect recommend to resolve the bottleneck and improve performance? (Choose two.)
A. Increase the number of workers to consume thejob faster.

B. Move the application to a Private Space.

C. Add Heroku Redis as a job queue.

D. Add a CDN add-on from the Elements marketplace.

Correct Answer: AB

QUESTION 13

Which two conventions of the Heroku platform reflect the Twelve-Factor methodology\\'s recommendation to "execute
the app as one or more stateless processes?" (Choose two.)

A. Log messages from each of an app\\'s dynos are kept separate from each other.
B. Heroku apps define process types in a Procfile.

C. A Heroku app\\'s config vars are deleted on deploys and app restarts.
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D. Dynos have an ephemeral filesystem.

Correct Answer: BC

QUESTION 14

Universal Containers wants to process mobile payments. How can this requirement be met?
A. Install an AppExchange package

B. Create a custom payments object

C. Add a custom field to store the credit card number

D. Attach a picture of thecredit card.

Correct Answer: A

QUESTION 15

A client wants to create a set of applications that all communicate with each other.Only one of the applications should
be accessible from the public internet. This application will act as an AP| gateway and route requests to the interbak
applications using HTTPS. Which architecture should an Architect recommend?

A. Create all of the appsin a Private Space. Configure the Private Space\\'s trusted IP ranges to only permit requests
from within the Private Space

B. Create the API gateway application in the Common Runtime. Create all of the internal apps in a Private Space.
C. Create all of theapps in the Common Runtime. Ensure that the internal apps do not define a web process type.

D. Create all of the apps in a Private Space Create the internal apps with Internal Routing enabled. Create the gateway
app as a web app

Correct Answer: D

https://devcenter.heroku.com/articles/using-sso-services-with-heroku#end-user-account-creation-and-removal
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